The Fine and Delicate Art of Multiple Choice Questions

Terminology:

The Stem:  The stem is the question that is being asked.

Correct Response: The “Right Answer”

Distracter Response: The next closest answer, but incorrect.

Incorrect Response: The remaining two answers that must be completely incorrect. 

Bloom’s Taxonomy: The level of difficulty of the question



Factual Recall: A basic Fact (lowest difficulty)


Application: Must know information and then apply it to get the answer. 



Synthesis: Must infer the answer from a variety of information learned in course. 

1. In 1914, which nations were allied in the Triple Entente?

A. Britain, France and Germany


B. Britain, France and Russia

C. Turkey, Russia and Austria-Hungary

D. Italy, Germany and Austria-Hungary

(What do you have to know to answer this question?)

(Ask: Have I heard the country before? Which ones can I delete right away?)

2. The weapon which made offensive combat extremely difficult on the Western Front was/were:

A. Machine guns
     B. Aircraft

C. Poison gas
 D. The tank

(What do you have to know to answer this question?)


“Our soil is stained red with the blood of young French soldiers. Most of our strong your men are dead and our fields are devastated. Germany must pay for its atrocities! 








-1919, Politician, Versailles Paris
3. The above statement was most likely spoken by:

A. Lloyd George, the British Prime Minister at the end of the war.

B. Georges Clemenceau, the French President at the end of the war.

C. Woodrow Wilson, shortly after he wrote the 14 points for the peace treaty.

D. Lloyd George, the French President at the conclusion of the war. 

(What is sneaky about this question?)

4. The most important battle for Canadian troops in WWI that brought Canada worldwide recognition was:

A. Battle of the Somme



B. Battle of Britain

C. Battle of Passchendaele


D. Battle of Vimy Ridge

( Higher order thinking question. It is a bit more difficult, because you have to weigh all of the information that you know and make some sort of judgment about the facts)
Let’s Try a few out and see if you can label all of the parts of the question.  Also, determine which level of question it is on Bloom’s Taxonomy. 

1. Which pair of Nations felt betrayed by the Paris Peace Settlement?

A. Italy and Germany

B. Britain and Germany

C. Italy and the USA

D. Britain and the USA

2. Which is an accurate statement about the world in 1919?

A. European empires had all been disbanded.

B. The concept of Self-Determination was applied to all of the former Ottoman Empire

C. The New Borders of Europe very accurately reflected the nationalities living there.

D. Japan and Italy were both examples of countries that expanded their territory. 

3. On which principle was the League of Nations based?

A. Autarky

B. Imperialism
  C. Self-Determination
  D. Collective Security

